Toutes les Opérations Avec des Duodécimaux (C)

1A3A1215|2715

624215

X ABi9

14561

+ 2A381,
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— 479519

1545B15

— 871By9

802119

X 6019

BB9,

+ 253119

482719

— 461719

6B6519

— 233519

7B9312

— 60AA;9

Calculez chaque réponse.

388019

+ 8B7812

23454015|5415

26B712

+ 1AA5,

291415

+ 877119

12A244,5|3415

251119
— 195B1
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169B»
X 5312

977215|2515

126B2;,
— 99A1;,
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Toutes les Opérations Avec des Duodécimaux (C) Réponse
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1A3A1215|2715

878215

62425
X ABi9

5810BA;,

14561

+ 2A381,

429219

B944 5

— 479519

716B12

1545B15

— 871By9

894019

802119
X 6012

40106015

BB9,

+ 253119
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482719

— 461719

21019
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— 233519
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7B9312

— 60AA;9

1AA5q9

Calculez chaque réponse.

388019

+ 8B7812
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517012

26B712

+ 1AA5,

45A019

291415

+ 877119
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12A244,5|3415
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— 195B1

77219

275919
— 140919

135019

169B»
X 5312

82A0919

977215|2515
3BA12

126B2;,
— 99A15s

491149
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